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D:\New-nuts\nuts\DATA\$WHL-60-2P2_1.1
, , 
11:45:43.503 +0800  nmrsu@EP-10021573
USER: nmrsu
SOLVENT: DMSO
Experiment = zg30
Pulse length =   14.400 usec
Recycle delay =    1.000 sec
NA  =      8
Solvent  = DMSO
PTS1d = 65536 
F1  =  400.140015 MHz
F2  =   1.000000 MHz
SW1 =    8223.68 Hz 
AT1 =   7.97 sec
Hz per Pt 1stD =   0.13 Hz 
SW2 =       1.00 Hz 
Hz per Pt 2ndD =   1.00 Hz 
O1  =    2470.0728 Hz 
O2  =      -1.0000 Hz 
LB1 =  0.30      Hz 
TP    A =   0.00
      B =   0.00 
      C =   0.00 
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